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23 | 28. Forall ne N,2**® —7n-8 is divisible by
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46. Find numerically the greatest term in the expansion
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of(2 + 3x)°, where x = o
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@I 49. The coefficient of ¥ and x? (p and g are positive
integers) in the expansion of (1 + x)”™ are

(a) equal (b) equal with opposite signs
(c) reciprocal of each other

(d) none of these
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51. The sixth term in the expansion of e by .
7 e
21082 9):—14»7 % 1 sl IO’j w _ X
— 2_10g2(3x l+) 2 2 -
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64. If the sum of the coefficients in the expansion of
(p + q)" is 1024, then the greatest coefficient in the
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84. In the expansion of (1 + x)",
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85. (Co+ C(C, + () ... (C,q + C,) is equal to
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The sum of the coefficients of the first 50 terms in
the binomial expansion of (1 - x)'%, is equal to

(a) 1()ICSO (b) _-_99C49 .
(C) _IOlCSO (d) 99C49
(12" April 1° Shift 2023)
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The remainder when 32°%* is divided by 5 is
(a) 1 (b) 2 (c) 3 (d) 4
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The value of 3 (°C, - °Cq_,) is equal to
r=0

(a) 1324 (b) 1124 (c) 1024 (d) 924
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Let the sum of the coefficients of the first three terms

. : 3 1
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Let n € N and [x] denote the. greatest integer less

than or equal to x. If the sum of (1 + 1) terms

"Co» 3"Cy, 5"Cy, 7"Cs, ... is equal to 21%°.101, then
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If the coefficients of three consecutive terms in the
expansion of (1 + x)" are in the ratio 1 : 5 : 20, then
the coeflicient of the fourth term is
(a) 1827 (b) 5481 (c) 2436 (d) 3654
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@ If the coefficients of x and x* in (1 + x)” (1 - x)7 are 4
and - 5 respectively, then 2p + 34 is equal to

(a) 66 (b) 60 (c) 63 (d) 69
(10™ April 2" Shift 2023)
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/ The sum of the coeflicients of three consecutive

terms in the binomial expansion of (1 + x)"*2, which

are in the ratio 1: 3 : 5, is equal to V"fq’c . ‘ C—f..”
(a) 41  (b) 92 (c) 25 (d) 63 oy LS
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The coefficient of x” in the expansion of | 2 ( %2 - L)
is , 3x?
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The term independent of x in the expansion of
‘ 5 1\ :
(l—x2 +3x3) Cipd et , X#0is:
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numbers in the expansion of (212 + 31/4)12 jg
(a) 27 (b) 89 (c) 35 (d) 43
(25™ July 2" Shift 2021)
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@ The sum of all those terms which are rational
=

-7
- 1

C T+ T = le + A (= 45

@ If nis the number of irrational terms in the expansion

it N80
of (34 g 55) _then (n - 1) is divisible by

(a) 26 (b) 7 (c) 8 (d) 30
(16™ March 1* Shift 2021)
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@ If the fourth term in the expansion of (x'+ x°8)” is
4480, then the value of x where x € N is equal to

(a) 3 (b) 4 2 (d) 1
(17" March 1% Shift 2021)
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If the term independent of x in the expansion of
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(éxz LN k, then 18 k is equal to
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The total number of irrational terms in the binomial
expansion of (7'/° - 31/10)80 jg
(a) 55 (b) 54 (c) 48 (d) 49
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Multinominal Theorem

MULTINOMIAL THEOREM

Concepts And Questions Solving Techniques

JEE (MAINS & ADVANCED)

o o uu
= n! xx, X2 .....xn

(o)! (2! (o)

GG T Ky s gy

(%)

The constant term in the expansion of
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The coefficient of x in (1 -x + 2x3)10is
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Required coefficient

_ 10! 10! 10! 2

- 3!.7!(_1)? ¥ 5!.4!(_1)4 (2)+ ?!.2!(_1)l (2)

=— 120+ 2520 — 1440 =960




